§ 5. BRHBIBRR

1°, BAMBFRYE REEFEAFE M, 5
4 xe(a, ), mIf(x)<M,
MR f()EXXE (e, b0) ERHFFH.
ﬁmn=zﬁi(x:fb){f<x)}%%@§&f<x> EXXIA(e,b) LB T

#R, T Mo=sup{f (o} Bh B f(OEXKR(,6) E

B EHK, ‘
EM—my BhHHKREXE (a,b) L4544,
2°, RPER—SNB/M 75
Hmf (x) =4 (1)
TR E—A K 60, HEEGH 6=38(e)>0, 1 BT
RBEFR < |x—d <J, HEf (x) HFEXH—x, HTF
B AR EER T .
fx)—A<e,
MBHRR(DEFENBETHERESNEGR: M TE—
AF] x,~a(n=1,2,-), FERNERZEHKL
limf (x,) =4,
HEANELRRR:
sinx

(1) lim == =1,
x

0
(2) lim (1+x) = =e,
x>0

W BRI RS, BB f()FE a R M HEE, % mAN
- Y, H?ﬁ“‘/l\ e>0’ %Bﬁgﬁ%%’;% 6=5(8)>0, ﬁ%, Rg

=2

0< o' —a] <6 M 0< 2" —a] <6,
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=] If (") — f(x™)] e,
A’ " R TER f(x) BEXER R,
3°, BAMBRAR A
B 0<a—x<S(e)H, F |4 —fx) e,
Wik A7 % f(x)TE o SEIERR:
A’=z_1’iur_l})f(x)=f(a-0)c

FHE, # Y 0<x—ald(e)f, H 4"~ f(x)] <s,
WFRE A7 S f ()T a HIERIR:
A”—Ilm fe)=f(a+0),

% f(xﬁ?t o SHWMAERN VEME TSR &4 e
fla—0)=f(a+0),
£ EFBRR K5
lim f(x)=c0

FKRNTFEEN E>0, RER
0< |x—a] <8(E), M |f(x)] >E,
5°. FIIRMR  HXF E M FIx,—~a(n=1,2,- ) F%:
lim f(x,)=B,

WHRH B (RS0 ) FEE f(OE o 5 FARR (FS
A BISH ) o
X BT 5 % B PR R /N A R KB
hmf(x) M Tim f(x)

x-»a

KT, AHEH B f GO o AR THERLEIR,
limf(x)= Tim f(x)

x>a E e 1

REEf O o AERR (EFWREZN ) WO [ B
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4 H.
- 38, EERfOETHEAEREX:

3 x=ﬂ, M f(x)=n,

R m il n HEFTHES, H n>0;
B x ATEE, W f(x)=0,
W IR B — S x IE R, ﬁ#iﬂiﬁﬁﬁﬁ (HIEEX
RRERT SRR TR )
E: BRBBNTFE—R ¢ BEEX, B i &RE5—
REFHH, HRBILHBRES—SHFEER,
Wxi, oy Xy mJ":‘Ji%J%E’JﬁEi %75, HPxhHRE

B limx,=x%, <x= —-~, MBARAElimn,=+oco,

k> des hp4oo

i fQe)=n,, BT 2 BEES Wik (x—8,%,+3),
Yk FEKRH, X, X0, EE X B0 B A, A mix
ERERM, BEEZER A(E>ER, #f(x,)>M, &%
FO)E % RTER

382. HEHE f(0)E: (a) FRME, (6) MK KNS
—REETA R, W& B4 R X I PR R A X ]
RENFARB? S

EHELMHH T, ’ :

M (2) EFXAAG—AREMAR, WERRREKS
HEF.

i, 0= L0, DB R BRARERY, ATk
RAREAES f 0 =Lat1E% fry,
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(6) BEEMX R LE—RREMER, WEET a4
FRAXE L&— a8 m—/NX 8, 72X 0 BT R, 1)
FEAREETMNBEFEARNFRAEZHAKE, BES
TFHRNERRE RN, EhitEH @A LR E R K,

383. LK

_ 1+
1+ x*

FE AR — ool a<l + 00 qﬂ-}%"ﬁmﬁo
. 1+ 1 x? x?
L P Sl e o St

IT+at

y x* 1
EH '2x2<1+x4 1’% 1+x4 <?,

. 4 1+ x? 1_3
RALERE Tr <1+?— 5o

W f (%) —oola<l+ o N RHF R,

384. EHARAHK

_ 1 1
flx)= 2 S05

ER =0 WEMSBAR T R B, HYx>0H FRALY
Ko
i MTLRRSANERM, BEFXESEE T x=08

M, & —COS~‘ >M, Wlﬁnmx—vf;, Ty l—cosll =nm,

HEn >T’ M} Y x= ;—n—ﬁd‘, !?cos
FOOE x=0 BTSSR R TR,

HK Y x>0 W, f(ORTHT LS, B By = ——
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Rtk |
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=L e, T If ()l = ] =In-1 3, HFE
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SER AR M>0, REn sk, BF IF ()l >M, ik
W, fOOERE 0,8) W& T R K. BN E T UBH,

386. EHHEK
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x
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HEROISx+= NEFTHAm=0 MERFTM=1,
iE: % oS+ oo B, 0SSF ()<L, X f(0)=0,E m=0,
A TR f(OEL0, +oo) ERE M=1, RFEHX

FEBMER >0, 7 X #E B fD=125p>1-e, &

e, TIHARERYX>THRIL,

387. &% fOEAKRLe,b] EHEEHRELFA, 0
FE I A X R Y 8 B T R A0 LR R E T 40
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R BT B R A LB (388-39658) .

388, f(x)=x* 7E(—2,5).,
B I -2<a5H, 0 (%)<25, i lim f () =25,

# inf f (x)=F(0)=0, sup f(x)=25,

389. f(x)= —1—41_—9? TE(—00, +00)H,

R inf fCO=lim f(x)=0, sup f()=F(0)=1,

390. f(x)—~;;72 720, +o0) P,

. HnH, 34 0<x<+°°iﬁ‘, F(x)>0, # inf f(x)
—llm f(x) 0,

XE(1—2)2>20, #1+x'>2x, HI H_xz\l Y x=1

1+x

w, 2% z=1o B sup f(x)=Ff(1)=1,

391, f(0=x+L % 0, +oo)A,

e 5 o00m, (Jx ) >0, st 1o, mn

x=1H, x+%=2, g inf f(x)=2,

Rlﬁj_i)féf(x)=+°°» ] sup f(x)=+o0,

392. f(x)=sinx7E(0, +o0)W,

W —1<F(O<I, inf f(x)=f (35)=-1,
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Sup f(x)=f( > )=l°

393. f(x)=sinx+cosx 7[0, 2x],
B fo=lgsin(x+T), M-J2 <f0<Iz.

T

# inf f(x)=f(5j’t'>=—./_2_, sup f(x)= f<_4_>=,/'?°

394, f(x)=2"1 (-1, 2)N,
M. fOE(-1, 2)NHAHE,
lim f(x)=2"'=1, lim f(x)=2"—14,

x»—1+0 & %x2—0

& inf f(x)= ,])—, sup f(x)=4,

395. f(o=[x1: (a) F£(0,2), (6) 7#£[0,2]H,

ﬂ: (2) f(x):{ 0, i—ljo<x<19
1, Y 1<<x<2,

A inf f(x)=0, sup f(x)=1,
0, 3 o<<x<1,
(6) f(x)=§ 1, H1<<x<2,

2, ¥ x=2,

e inf f(x)=0, sup f(x)=2,

396. f(x)=x-[x] 7E[0, 11N,

'ﬁ: f(x)_____{ 0, %X:’O, ].,
’ %, % 0<x<1,

inf f(x)=£(0)=f(1)=0,
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xLilmof(x)=l, sup f(x)=1,

397. SREAHC f (o) =x* 7 FHIX 8] N By R 15 .

(a) (1, 3); (6) (1.9, 2.1);

(8) (1.99, 2.01); (r) (1,999, 2.001),

fZ: (a) my=1, M,=9, #HIFEEY 3.
(6) me=3.61, M,=4.41, #%HEH}0.3,
(B) #RME=2.01>—1,99

=(2.01+1.99)(2.01—1.99)=0.08,

(r) $RME=2.001*—1.999=0.003,

398. RmE
- 1
f(x)=arctg p

FETFFIX RN 3R 1R .

(a) (—~1, +1); (6) (—0.1, 0.1);
(8) (—0.01, 0.01)5 (r) (—0.001, 0.001),
W M TETARIMA X IR K.

my=limarc tgi= -
o x5—0 X

M,=limarc tg

x>+0

E
B piRaEd= T (- T)=x,
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B H A R 5
WM IO f(0) 8 XTF (a,b) NI 3L,
i ml fi+ fo12ml f1]1+m[f,]
)54 MUfi+ £ISMLF T+ ML F,,
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KRB f1(0R F(ORNPF, HEMNERBRNIXA
AR

(a) FRWHEIE, (6) REXEL,

i & my=m[fi+f,], m=m{f], m=m[f,],

BRGEE: 5 melm+my, Bl 2e=m +my—my,
BETHRNEN, 7E(e, DREDFE—E x i

f:(xo)+fz(xo)<mo+€=m1+mz—'€o ' 1)

FH—Ti T, BWET my m 5N fi(x0), f.(0) 8 T B

R BHTF (0, IR~ R xix;, BH fLlx)>m— -,

folx)) >my— Lo FRMEB:

P

fx(x;)+f2(x,-)>m1+m2“3a!f%%ﬁﬂgx X =X;j=Xq F‘_Zﬁz:

fl(xn)+f2(xo)>m1+mz"€o (2)
QRIS FE, HiF my=>m+my,
FEIEY] R NE R,

Bl (a) fr(x)=f(x)=x% (a, b)FKFEO,1),
WP m=0, m=0, my=0,

M=2, M,=1, M,=1, ‘
(6) fi(x)=sinx, f,(x)=cosx, (@, b)F(0,27),
K fi(x)+ fo(x)=sinx+cos x

=J?sin<x +EA>°
4

e my=—J 2, m=~—1, my=—1,
M0=,f§_, M,=1, M2=10

400. REXK f(DEXTHIa, +oo0)N, HEEZ—
X e, b] ERA R, BRE

m(x)= inf £(£)

289



M M(x)=sup f(&),

a<i<x

R y=mx)fn y=M (WAL, &
(a) f(x)=sinx, (6) f(x)=cosx,
M. (a) f(x)=sinx, MIFXEO0, +o0), MK
0, 0<x<m,

sin x, :r\<\x\<\..§’—:z,

m(x)=
-1, x>g-n,
sinx, 0Ky << ;,
"wl(x)={
1’ x>”2"o

° N x
: ar _,.
(‘2" 1)

A 400 f (a)-1 y=m (%)

¢
)

B 400 E (a)-2 y=M,(%)
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R y=mOMy=M ()NBEEL LT,
(6) f(x)=cosx, XWTFXEMLx/2, +oco)lF
cos x, ”<x<n,
my(x)= { 2

_1’ x>ﬂc
0o, 3 <x<ia,

My(x)= cos x,%n<x<2ﬂ,

1, x>2m,

H y=my(x)Fl y= M (x)HWBH T,
yi

TINZ >

(m-t)

B 400 8 (6)-1 y=my(x)

¥l

2mir)

B 400 B (6)-2 y=M(x)
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